JBE B 2

DRAULIC CHUCK

OMATEl

> SNK SERIES

e

Yty

> S—-RE SERIES
| i e T W .
é//;,;//‘/zi/l/,;,i;//’//i,}i,/';( //:/ﬁ/ﬁ

ROTARY HYDRAULIC CYLINDER WITH

ROTARY HYDRAULIC CYLINDER SAFETY AND DETEGTION

7 i

dnrithnll

O R, HE, (TR 5 EEH R,
O BESEERE, TEAERS, TRRHEBILERED,
O NEPIEE B HEKERE R EM.

O RERAHERERZ,

© For short form ,high speed and stroke control.

© To ensure safe power chuck operations by conforming movement
of the piston in the cyliner.

© Built—in safety check valves and pressure relief valves.

© Can screw it from the rear end of the cylinder when mounting.

© FE R SR B2 A B 6 BT,
O RERAHEBERKEEZ,
© For short form ,light weight and high speed rotary cylinder.

© Can screw it from the rear end of the cylinder when mounting.

O RMFLEES L EBEDHEE, NBREELE,
© The drain port should be independently connected to oil tank to avoid
back pressure.
O RHAREHLEREDREE, MBREEEE,

© The drain port should be independently connected to oil tank to
avoid back pressure.

L2
.
2 .
g p-L1 MR ——
M A:RELD. 'L Y
z o —>He
. 5 B:SMEST. ,_E _ |_
r ! - N —.|_2|<—
1 — ____-""E_-_-‘E_EI_LL wia|lQalo
| ?I { e
| —J mE.D. -
~ M 1%_ . —
—-Fx RC1/4 Rl p — ATFEST. —>|§|<—
A BwDr %3 7L Drain port |g ] I I 4
70 J@GNK75€0) ————— /Q A lden-tr g U e b e AT 2 ol =
2~RC3/8 (SNK-200: RC1/2) SN L i g“— win|a|© O
47l Pressure port  |J31SNK-200N:134. H G N K
J | =
RC1/4 | U200 ue —loboom €
— 5% 7L Oil drain port ; - >
2-RC3/8(S-RE200RC1/2 " S ]
- N —>
"~ £ . 5 45 MmFL Pressure port
" _. 3 #i1& Spec & ZE R Eff.piston areacm 4572 (mm) B EE v B egiﬁq%rgssure e B (ko) Al J m
.;'." s J Z1%% Model #0148 Extend  #i{8] Retract Piston stroke maxr.p.m MFPa(kgf cm?) kgxm?® Weight
’ SNK-75 44.2 37.1 15 6000 0. 01 2.8
SNK-100 78.5 715 20 0.03 43 i : - ; X 0 FE 7
#H1& Spec iEE W Eff.piston areacm 7% (mm) B EE Max_gpemﬁng Prossure 'IH'I!HE; %i(kr?)
SNK-125 122.7 113.1 25 4.0(40) 0.05 6.8 £U5E Model #18) Extend 718 Retract Piston stroke max r.p.m MPa(kgt/ cm’) kg~m eight
SNK-150 176.7 160.8 30 5500 0.09 9.4 S-75RE 43.0 37.1 15 5000 0.01 3.4 -—
SNK-200 314. 1 290.4 35 0.28 15.3 S-100RE 77.4 71.5 20 0. 04 49 N
SN2 LG Sy 60 U 5.0(50) 0.40 45.2 S-125RE 121.6 113.1 25 4.0(40) 0.05 7.4 -
S-150RE 175.6 160.8 30 5500 0.10 10.7 L
S-200RE 313.0 290.4 35 0.29 15.9
MifSpec 4 B ¢ D1 D2 E G JoK L L1 L2 M NPQR S O
R85 Model h7 max min ik E G
Spec
SNK-75 75 15 107 90 65 ) 45 30 57 148 s 6~M8x16  M8x60 01 35 28 27526 2057 Model A B C D1 D2 o — T H1 H2 J K L t1 L2 M N <
SNK-100 100 20 132 115 100 80 72 163 © 6~M10x20 M8x75 12 ol s 75 15 107 90 es w0 57 oa BE VB o
SNK-125 125 25 160 140 .0 .. 35 50 25 82 172 M24x30 6-M12x20 MB8x85 25, oo SAGRE 100 20 132 115 100 gg 30 48 sy 42 18T oo MRS g o oo vege  qp 21 35
L e e R —— ol ) [0 Rt e U 0 S 120 I S-125RE 125 25 160 140 35 50 25 82 41 136 218 M24x30 6-M12x20 M8x85 25
SNK-200 200 35 245 220 145 120 55 70 35 115 201 M36x4.012-M16x30M10x125 21 38 60 . 6 S-150RE 150 30 190 170 0 "0 45 55 95 39 134 230 M35 12-M12x24 MIOX100 16 32
SNK-250 245 60 307 275 220 160 65 85 25 165 255 MALGB.012-M20x35M16x175 28 45 65 =~ 18 6 28 S-200RE 200 35 245 220 145 120 55 70 35 115 36 132 248 M36x40 12-M16x30 M10x125 21 38 60

 REBENERAERN, BRABITHEM Subject to technology changes without prior information

+ JEEZEE KA ET# Non-standard requirements can be made

+ REBENEQRERN, BRASITHEL Subject to technology changes without prior information
+ JERZF R AT Non-standard requirements can be made




